Вычислить: 

 1)     

2) а) 
     Б)  arcsin( - 1) + arcsin 0 + arcsin(√2/2)         в) arcsin( -√2/2) - arcsin( 1/2) – arcsin( -1)
г) arcсos(-1) + arcсos(√2/2)+ arcсos (√3/2)         д) arcсos0 - arcсos (-√2/2) – arcсos(-1/2) 
е) 4 arcsin (-√3/2)+ arcсos (-√3/2)+ arcsin1         ж) arcsin(-1)+2 arcсos (-√3/2) - 2 arcсos(-1)
з)  arctg 0 – arcсtg)                                           и) arcsin  + arctg 1  - arcсos 
к) arcсos 1 + arcсos 0 - 2 arctg1                                л) arcsin( -) +2 arcсos( - )

м) 

3) Вычислите:
a) 


2

b) arcsin sin 30°;
c) arcsin sin(;
d) arcsin sin 120°
e) arcsin sin 1;
f) arcsin sin 180°;
g) arcsin sin( -240°);
h) arcsin sin 4;
i) arcsin сos 60°;
j) arcsin сos ( -54);
k) arcsin сos()
l) arcsin сos 100°;
m) arcsin сos 6;
n) arcсos сos ;
o) arcсos сos 0,3;
p) arcсos сos ( - 25°);
q) arcсos сos 120°;
r) arcсos сos 280°;
s) arcсos сos 3;
t) arcсos сos ( - 2);
u) arcсos sin 20°;
v) arcсos sin 100°;
w) arcсos sin 5;



4) Вычислите:



а)       б)          в)                     



г)      д)    Е) 


Ж)                  З)   


 И)                К)   


Л)  32cos ( 2 arccos  )          М)                  Н)   

О)                       П) sin arcсos ;        Р)  сos ( – arcsin);
С)  sin arcсos();            т)   сos ( 2 arcsin)          у)  сos ( π + 2 arcsin0,8)
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